Oxygen-28: the heaviest oxygen isotope
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Researchers have made oxygen-28, the ~
. . . Fluorine-29 ¢ 44
heaviest oxygen isotope, by bombarding e
beryllium with calcium-48. This created ® Q
. : : : 0
some fluorine-29, Whlc;h Was then fired at Oxygen-28 >
liquid hydrogen, causing it to lose a proton, ° D
producing oxygen-28 nuclei. e oggen2s 2 3
Studying isotopes with unusual neutron-to- ~ Scienfisis create oxygen-28, the
. . .. . heaviest isotope, and discover its
proton ratios can provide insight into surprising instability

atomic nuclei, especially nuclei that have a m
‘magic humber' of protons or neutrons, V— ———
which are known to be unusually stable. IS LS ARSI

. isotope?
Researchers discovered that oxygen-28 2. Give the number of protons and

was not stable. The nuclei formed only NEeuirons in oxygen-28.
3. Suggest how oxygen-28 decays

briefly, before decaying into oxygen-24. info oxygen-24.



Presenter Notes
Presentation Notes
This slide summarises a recent article published by Chemistry World. Use this as a lesson starter when teaching about isotopes.

Answers
Isotopes of an element have the same number of protons and different numbers of neutrons.
Eight protons and 20 neutrons.
The nuclei lose four neutrons each.
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